MATHS

BOOKS - RS AGGARWAL MATHS
(HINGLISH)

FRACTIONS

1F'd3 f12
-Find = of 12.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7pTi05QkGx92

A.9
B.16
c 1
9

D. None of these

Answer: A

° Watch Video Solution

5)
2.Find 3 of 32.

° Watch Video Solution



https://dl.doubtnut.com/l/_7pTi05QkGx92
https://dl.doubtnut.com/l/_MsH7gr0Uq01i

3. What fraction of a day is 8 hours ?

o Watch Video Solution

4. What fraction of an hour is 40 minutes?

2
A°§
g =
"2
c 2
6

6
D.Z


https://dl.doubtnut.com/l/_MsH7gr0Uq01i
https://dl.doubtnut.com/l/_g0VO8VkbT8oI
https://dl.doubtnut.com/l/_QJImlSSKRlvX

Answer: B

o Watch Video Solution

5.1n the given figure. If we say that the shaded

region is 3 of the whole, then what is the

error in it?



https://dl.doubtnut.com/l/_QJImlSSKRlvX
https://dl.doubtnut.com/l/_JRZIY6VVZbJV

I o Watch Video Solution

9 . i i
6. Convert ? into a mixed fraction.

o Watch Video Solution

2
7.Represent 23 on the number line.

o Watch Video Solution



https://dl.doubtnut.com/l/_JRZIY6VVZbJV
https://dl.doubtnut.com/l/_DxfMM54kztHP
https://dl.doubtnut.com/l/_e4ERMO1bR1a1

8. Write six improper fractions with

denominator 7

o Watch Video Solution

9. Write six improper fraction with numerator

11.

o Watch Video Solution



https://dl.doubtnut.com/l/_h4WQ4qZaCBht
https://dl.doubtnut.com/l/_8TuAFqTbpflN

10. Convert each of the following into an

improper fraction:

(i) 3%

N 65
(ii) 3

o 1
(iii) 55

(i )111
v) 112

o Watch Video Solution

11. Corvert each of the following into a mixed

fraction:


https://dl.doubtnut.com/l/_iWxBq0Y0rkU3
https://dl.doubtnut.com/l/_V90AfW06MWRK

23
(i) ?

(i) %7

... 45
(iii) 5

(,)50
iv 3

° Watch Video Solution

12. Write four fraction equivalent to each of

the following.



https://dl.doubtnut.com/l/_V90AfW06MWRK
https://dl.doubtnut.com/l/_yrdyGAWunOTd

& watch Video Solution I

13. Write a fraction equivalent to 7 with

numerator 15.

o Watch Video Solution

14. Write a fraction equivalent to 3 with

denominator 56.


https://dl.doubtnut.com/l/_yrdyGAWunOTd
https://dl.doubtnut.com/l/_6yG2kjmSsXUP
https://dl.doubtnut.com/l/_rIIGRqlLJ9q9

15
56

35

Answer: B

° Watch Video Solution

15. Write a fraction equivaient to 3 with

numerator 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_rIIGRqlLJ9q9
https://dl.doubtnut.com/l/_w5JPFbu3fht8

16. Write a fraction equivalent to 36 with

denominator 9.

>

oo |l k| ©o|n

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QA12rMmeVedd
https://dl.doubtnut.com/l/_v1NthaCkljY5

5 20
17. Show that 3 and 35 are equtvalent

fraction.

° Watch Video Solution

36 ,
18. Show that EP) and 50 2'e not equivalent

fraction.

o Watch Video Solution

19. Show that 1—70 is in the simplest form.

I o Watch Video Solution


https://dl.doubtnut.com/l/_v1NthaCkljY5
https://dl.doubtnut.com/l/_RuFh7w6I8zYZ
https://dl.doubtnut.com/l/_Fvp9JjrCwy29

21
20. Reduce = to the simplest form.

>

01|E ol o w o

o

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Fvp9JjrCwy29
https://dl.doubtnut.com/l/_pKJgUDkRWfPO
https://dl.doubtnut.com/l/_BxIPkPLVTQoi

21. Convert the fraction l, g, E, and é
2°3° 6 9

into the Like fractions.

o Watch Video Solution

5

22. Compare the fraction 3 and I

o Watch Video Solution

6

23. Compare the fraction 9 and T

o Watch Video Solution



https://dl.doubtnut.com/l/_BxIPkPLVTQoi
https://dl.doubtnut.com/l/_QEJCjOGtL1B8
https://dl.doubtnut.com/l/_PtXXKyB5qXD6

24. Compare the fraction 5 and 8

9
o Watch Video Solution
25.C the fracti / d )
. Compare the fraction 13 an T
o Watch Video Solution
26. A the fracti 215 d [
. Arrange the fraction 389 an 15 in

ascending order.

| s |


https://dl.doubtnut.com/l/_PtXXKyB5qXD6
https://dl.doubtnut.com/l/_7MtnHqKyRtGc
https://dl.doubtnut.com/l/_NrjQhKnEv6Yv
https://dl.doubtnut.com/l/_Nvlr7UZPRMvn

| @ watch Video Solution ]

: 4 7 8 17
27. Arrange the fractions 510 15 and 30

in descending order.

o Watch Video Solution

28. Find the sum:

4 2
(|)§+§
Sy L0
g T8 T3

o Watch Video Solution



https://dl.doubtnut.com/l/_Nvlr7UZPRMvn
https://dl.doubtnut.com/l/_Ax6foVRg0XbV
https://dl.doubtnut.com/l/_rymxtKJEIrcZ

29. Find the sum:

8+5
9 12

o Watch Video Solution

30. Find the sum:
5! 3

6 8

o Watch Video Solution



https://dl.doubtnut.com/l/_VqaatVjdbSul
https://dl.doubtnut.com/l/_dy0CE6dse45u

31. Find the sum:

7 11 9

E+16+24

o Watch Video Solution

32. Find the sum:
5! 7 11

6 8 12

o Watch Video Solution



https://dl.doubtnut.com/l/_lZtwGMRQGb9d
https://dl.doubtnut.com/l/_86rHHbXIghKm

33. Find the sum:

22 113 43t
5 10 15

o Watch Video Solution

3
34. Tanvl bought a notebook for Rs SZ and a

pen for Rs 103 How much money should she

pay to the shopkeeper?

o Watch Video Solution



https://dl.doubtnut.com/l/_71XNTzEk8uZ9
https://dl.doubtnut.com/l/_wGu7F3YIzo7c

35. Three boxes weigh
18

1 1
%kg, 7§kg and 105 kg respectively. A

porter carries all the three boxes. What is the

total weight carried by the porter?

° Watch Video Solution

36. Find the diffrence:

.9 2
U9~ 9

117
W~ 1

° Watch Video Solution



https://dl.doubtnut.com/l/_mz2vVTeKADne
https://dl.doubtnut.com/l/_Q2SvNe0yLgbO

37.Find the diffrence:
7 5)

8 12°

o Watch Video Solution

1

5)
38. Subtract 35 from 56

o Watch Video Solution

1
39. Subtract l from 4—
10 5

| =


https://dl.doubtnut.com/l/_Q2SvNe0yLgbO
https://dl.doubtnut.com/l/_hi0SfN4CZsSw
https://dl.doubtnut.com/l/_nIceLWFyNKPb
https://dl.doubtnut.com/l/_W3UYdGg6SEvN

I O Watch Video Solution

5!
40. Subtract lg from 8.

o Watch Video Solution

1 1 1
41.Simplify: 5— — 3— 4+ 3= + 4
implify 5 4+ 3+

o Watch Video Solution



https://dl.doubtnut.com/l/_W3UYdGg6SEvN
https://dl.doubtnut.com/l/_zYm7Svtm4aI2
https://dl.doubtnut.com/l/_sjT6laNtfA91

5 9
42, of - and 11 which is greater and by

how much?

o Watch Video Solution

2
43. The cost of a pen is Rs 6§ and that of a

pencil is Rs 46. Which cost is more and by

how much?

o Watch Video Solution



https://dl.doubtnut.com/l/_WWgxftbeBMiC
https://dl.doubtnut.com/l/_AI20sVscfVn7

1. (i) Write the fraction of the shaded portion:

o Watch Video Solution



https://dl.doubtnut.com/l/_mMjLndLn8OMD

4
2.Shade 9 of the given figure.

o Watch Video Solution

3.In the given figure. If we say that the shaded

region is 1 then identify the error in it.


https://dl.doubtnut.com/l/_glPOsD14z5vL
https://dl.doubtnut.com/l/_opgF5PJNx3Ev

° Watch Video Solution

4. Write a fraction for each of the following:
(i) three-fourths

(ii) four-sevenths

(iii) two-fifths

(iv) three-tenths

(v) one-eighth


https://dl.doubtnut.com/l/_opgF5PJNx3Ev
https://dl.doubtnut.com/l/_DijkIvuNKiVj

(vi) five-sixths
(vii) eight-ninths

(viii) seven-twelfths

° Watch Video Solution

5. (i) Write down the numerator and the
denominator of each of the fraction given

below:


https://dl.doubtnut.com/l/_DijkIvuNKiVj
https://dl.doubtnut.com/l/_eOwnLWMYxTe1

° Watch Video Solution

6. Write down the fraction in which.
(i)numerator = 3, denominator =8

(i) numerator =5, denominator = 12
(iii) numerator = 7, denominator = 16

(iv) numerator = 8, denominator =15

° Watch Video Solution



https://dl.doubtnut.com/l/_eOwnLWMYxTe1
https://dl.doubtnut.com/l/_CjsqS7uobTIt
https://dl.doubtnut.com/l/_MZLkTzO1NitC

7. Write down the fractional number for each

of the following:



https://dl.doubtnut.com/l/_MZLkTzO1NitC

Watch Video Solution

8. What fraction of an hour is 24 minutes?

o Watch Video Solution

9. How many natural numbers are there from 2
to 10?7 what fraction of them are prime

numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_MZLkTzO1NitC
https://dl.doubtnut.com/l/_vEszFHmcTSpm
https://dl.doubtnut.com/l/_MqgbrbRtbtCY
https://dl.doubtnut.com/l/_rQI8jzMlRfcg

10. Determine:
2

(i) 3 of 15 pens
.2

(i) 3 OF 27 balls

2
(iii) 3 of 36 balloons

° Watch Video Solution

11. Determine:

3
(i) 1 of 16 cups

3
(i) 7 of 28 rackets

3
(iii) 1 of 32 books

o Watch Video Solution



https://dl.doubtnut.com/l/_rQI8jzMlRfcg
https://dl.doubtnut.com/l/_3Vzk0N9iTzji

4
12. Neelam has 25 pencils. She gives 5 of them
to Meena. How many pencils does Meena get?

How many pencils are left with Neelam?

o Watch Video Solution

13. Represent each of the following fraction on

the number line: (ii) g
1
(i) - ()

o Watch Video Solution



https://dl.doubtnut.com/l/_3Vzk0N9iTzji
https://dl.doubtnut.com/l/_KtBPlbu2o13L
https://dl.doubtnut.com/l/_kiU9vmoBwgr5

1. Which of the following are proper fraction?

1 3 10215 16 10 23
2’57 777 87167 11’ 10

o Watch Video Solution

2. Which of the following are improper

fractions ?

1 3 10215 16 10 23
2’57 777 87167 11’ 10

| €8 |


https://dl.doubtnut.com/l/_kiU9vmoBwgr5
https://dl.doubtnut.com/l/_dYJl4dYXRQsJ
https://dl.doubtnut.com/l/_YNgU34nuKbuJ

| ¥ Watch Video Solution J

3. Write six improper fractions with

denominator 5.

° Watch Video Solution

4. Write six improper fraction with numerator

13.

o Watch Video Solution



https://dl.doubtnut.com/l/_YNgU34nuKbuJ
https://dl.doubtnut.com/l/_uYindUZz9kXX
https://dl.doubtnut.com/l/_ryYaIKOtBRZi

5. Convert each of the following Into an

improper fraction:

()52
VoY

. 93
(i) 3
6 3
(iii) 0

. 35
(iv) 1

10—9
(V) 11
, 7
(vi) 121—5
. 8
(vii) 3

512
(viii) 3

° Watch Video Solution



https://dl.doubtnut.com/l/_R5TloZSjMxFz

6. Convert each of the following into a mixed

fraction:

() 1?7

i 82

1] 7
101

8

95
(iv) 3

81
11
.87
(vi) 1_6
103

(vil)) ——

12

L 117
(viii) 20

(V)

° Watch Video Solution



https://dl.doubtnut.com/l/_dJ6VpIhPsIBI

7.Fill up the blanks with '>'/<" or'=":

[ 1D1
(I)E
3

(1) 1 1

6
i 102
(iii) -
6
iv) =1
(iv) 5
3016

3016
(vi) a U1
vi) =

(v) 1

o Watch Video Solution



https://dl.doubtnut.com/l/_BVTEWpYfvCGK

8. Draw number lines and locate the following

o Watch Video Solution



https://dl.doubtnut.com/l/_TYSXELoza6Va

1. Write five fractions equivalent to each of the

following:

o D
(viii) T2

° Watch Video Solution



https://dl.doubtnut.com/l/_zzZYN8DykzVq

2. Which of the following are the pairs of

equivalent fractions?

i 5 q 20
| 5 an o
3 15
(i) 3 and 0
... 4 16
(iii) = and o7
2
(iv) — and 1—4
9 63
1 9

(v) 3 and o1

(,)2 d33
wga,n 99

o Watch Video Solution



https://dl.doubtnut.com/l/_BiFu15NCkRva

3. Find the equivalent fraction of 5 having

(i) denominater 30

(i) numerator 24

o Watch Video Solution

4. Find the equivalent fraction of 9 having

(i) denominater 54

(i) numerator 35

o Watch Video Solution



https://dl.doubtnut.com/l/_vVhzTXa6mrJe
https://dl.doubtnut.com/l/_r1tn5j0m5Kad
https://dl.doubtnut.com/l/_IqAtQplpBLm1

5. Find the equivalent fraction of 11 having

(i) denominater 77

(i) numerator 60

o Watch Video Solution

24
6. Find the equivalent fraction of 30 having

numerator 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_IqAtQplpBLm1
https://dl.doubtnut.com/l/_kjjVAf8GETZj

36
7. Find the equivalent fraction of 48

o Watch Video Solution

8. Find the equivalent fraction of 56/70 with (i)

numerator 4 (ii) denominator 10

° Watch Video Solution

9. Reduce each of the following fractions into

its simplest from:


https://dl.doubtnut.com/l/_tRycRdLh9zCa
https://dl.doubtnut.com/l/_PpQNHN3wsgi2
https://dl.doubtnut.com/l/_qkZ5vnaSdDLB

9
15
. 48
(u)%
Lo 34
(|||)%
150

(iv) E
72
90

(i)

(V)

o Watch Video Solution

10. Show that each of the following fraction is

in the simplest form:

8

() 33

.9
(ii) 1


https://dl.doubtnut.com/l/_qkZ5vnaSdDLB
https://dl.doubtnut.com/l/_k7XZFaafQEKE

... 29
(iii) 36

8

(iv) IR
21

(v) 1—0

° Watch Video Solution

1. Replace [J by the correct number in each

of the follwing:

2 8

=7
i3 _ O
5= 35
i 3 _ 2
ng_ﬁ
45 9
W% = T


https://dl.doubtnut.com/l/_k7XZFaafQEKE
https://dl.doubtnut.com/l/_5UekLVpNzAd5

40 U
V) = = —
56 7
(,)42_ 7
Wl T O

o Watch Video Solution

1. Define like and unlike fractions and give five

example of each.

° Watch Video Solution



https://dl.doubtnut.com/l/_5UekLVpNzAd5
https://dl.doubtnut.com/l/_6BEf2eoEYOAq

8 1
l —, and — into like

3
2. _—
Convert = 107 15 30

fractions.

o Watch Video Solution

13 ,
and — into like

3 . 1 5 7
. Conver 13 12 51

fractions.

o Watch Video Solution



https://dl.doubtnut.com/l/_5dmssYiCrSfA
https://dl.doubtnut.com/l/_dQA11vBBTvlz

4. Fill in the place holders with the correct

symbol > or <:

8 5
NS a2
(i) o9
9 7
i 5~ 10

3 6
N
(iii) - -

11 8

T T

6 5
N TRT]

17
20

(vi) - L
vi
20

o Watch Video Solution



https://dl.doubtnut.com/l/_0iJypvIQKwN7

5. Fill in the place holders with the correct

symbol > or <:

iy 0
W11 - 15

o Watch Video Solution



https://dl.doubtnut.com/l/_9nUVaSsxiOQh

6. Compare the fractions given below:
4 5
57

o Watch Video Solution

7. Compare the fractions given below:
3 5
E

o Watch Video Solution



https://dl.doubtnut.com/l/_rENpKh4HNnEZ
https://dl.doubtnut.com/l/_CVnstpl2N3HR

8. Compare the fractions given below:

7 6
11’7

o Watch Video Solution

9. Compare the fractions given below:

5 9
6’ 11

o Watch Video Solution



https://dl.doubtnut.com/l/_C6PknAlSwxQH
https://dl.doubtnut.com/l/_WaxIYY4ll8oz

10. Compare the fractions given below:
2 4
309

o Watch Video Solution

11. Compare the fractions given below:

6 3
137 4

o Watch Video Solution



https://dl.doubtnut.com/l/_tkMEoo60glCi
https://dl.doubtnut.com/l/_RCWS7fYvMEDT

12. Compare the fractions given below:

3 5
4’ 6

o Watch Video Solution

13. Compare the fractions given below:

5 7
8’ 12

o Watch Video Solution



https://dl.doubtnut.com/l/_BNQMsPccforD
https://dl.doubtnut.com/l/_N3VQ8y8lZPGt

14. Compare the fractions given below:
4 5
96

o Watch Video Solution

15. Compare the fractions given below:

4 7
5 10

o Watch Video Solution



https://dl.doubtnut.com/l/_A8la2oYY15UN
https://dl.doubtnut.com/l/_oBVguqM73cNf

16. Compare the fractions given below:

79
8’10

o Watch Video Solution

17. Compare the fractions given below:

11 13
127 15

o Watch Video Solution



https://dl.doubtnut.com/l/_Wdy7YECfbSMW
https://dl.doubtnut.com/l/_auIDNioHo29h

18. Arrange the following fraction in ascending

order:
1 3 5 7
2716 ™3

o Watch Video Solution

19. Arrange the following fraction in ascending

order

2 5 7 11
—, —, — and —
369 18

o Watch Video Solution



https://dl.doubtnut.com/l/_YTELYGMufMxX
https://dl.doubtnut.com/l/_b0rQIsoiyehW
https://dl.doubtnut.com/l/_2ysUjVUzkAYs

20. Arrange the following fraction in

ascending order:

2 7 11 17
—, —, — and —
5 10" 15 30

o Watch Video Solution

21. Arrange the following fraction in ascending

order:
3 7 11 q 23
1816 ¢ 3

° Watch Video Solution



https://dl.doubtnut.com/l/_2ysUjVUzkAYs
https://dl.doubtnut.com/l/_PmIVCDG2kmnq
https://dl.doubtnut.com/l/_06r4Eetc6u3C

22. Arrange the following fraction in
descending order:

3 5 11 d 23

18716 7 32

° Watch Video Solution

23. Arrange the following fraction in

descending order:

75 117
9’ 127 18 *"“ 36

° Watch Video Solution



https://dl.doubtnut.com/l/_06r4Eetc6u3C
https://dl.doubtnut.com/l/_Q3Qcx2WEygL4

24. Arrange the following fraction in
descending order:

2 3 7 d 8

3'5°10 15

o Watch Video Solution

25. Arrange the following fraction in

descending order:

5 9 17 31
714021 Y 42

o Watch Video Solution



https://dl.doubtnut.com/l/_FswpTUfuTfKQ
https://dl.doubtnut.com/l/_4qVMtyVabhQ3
https://dl.doubtnut.com/l/_xNVOPCyTPwfl

26. Arrange the following fraction

descending order:

1 1 11 1 1

1272377797 177 50

o Watch Video Solution

27. Arrange the following fraction

descending order:

o Watch Video Solution



https://dl.doubtnut.com/l/_xNVOPCyTPwfl
https://dl.doubtnut.com/l/_sUyoaHL2aq92
https://dl.doubtnut.com/l/_q1hNjkkAj7Up

28. Lalita read 30 pages of a book contanining
2
100 pages while Sarita read EOf the books.

Who read more ?

o Watch Video Solution

29. Rafiq exercised for 3 hour, while Rohit
exarcised for 7 hour. Who exercised for a

longer time?

o Watch Video Solution



https://dl.doubtnut.com/l/_q1hNjkkAj7Up
https://dl.doubtnut.com/l/_KTdRx0WA7xft

30. In a school 20 student out of 25 passed in
Vi A. while 24 out of 30 passed in VI B. Which

section gave better result?

o Watch Video Solution

1. Find the sum

1
8

i
8

o Watch Video Solution



https://dl.doubtnut.com/l/_Ebo3CA3e2nZt
https://dl.doubtnut.com/l/_vGbxttIVRBDU

2.Find the sum

4 8
9 9

° Watch Video Solution

3. Find the sum

3 4
12 422
5 ' 75

o Watch Video Solution



https://dl.doubtnut.com/l/_vGbxttIVRBDU
https://dl.doubtnut.com/l/_oj9MilEYWRsq
https://dl.doubtnut.com/l/_kSCI3nKFBo8Y

4.Find the sum

2+5
9 ©6

o Watch Video Solution

5. Find the sum
7 9

2 " 16

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXvs1N2wYBGe
https://dl.doubtnut.com/l/_KhqCAyJaKv7u

6. Find the sum
4 17

5 30

o Watch Video Solution

7. Find the sum

23 +55
476

o Watch Video Solution



https://dl.doubtnut.com/l/_5aHt8q7USN6J
https://dl.doubtnut.com/l/_xzLcxT6I18yQ

8. Find the sum

31—|—15
8 12

o Watch Video Solution

9. Find the sum

27+38
FUIMRST;

o Watch Video Solution



https://dl.doubtnut.com/l/_jWYZbMK4ZuGl
https://dl.doubtnut.com/l/_c2q7dpQepazs

10. Find the sum

32 —|—15—|—2
3 6

o Watch Video Solution

11. Find the sum

3410 410
15 ' 720

o Watch Video Solution



https://dl.doubtnut.com/l/_lJepZjKBoH18
https://dl.doubtnut.com/l/_Q8e400BMtSwQ

12. Find the sum

3 L4t 6
374" "6

o Watch Video Solution

13. Find the sum

2 —|—31 +42 +25
3 6 9 18

o Watch Video Solution



https://dl.doubtnut.com/l/_NJrCxC0AumhY
https://dl.doubtnut.com/l/_mRmN76X4uvXD

14. Find the sum

21 11 25 37
3T TR T

o Watch Video Solution

15. Find the sum

2—1—3+15+37
4 8 16

o Watch Video Solution



https://dl.doubtnut.com/l/_tBROfAz500Al
https://dl.doubtnut.com/l/_HkDsXiYTsr2V

2
16. Rohit bought a pencil for Rs 33 and an

7 i
eraser for Rs 21—0 What is the total cost of

both the articles?

o Watch Video Solution

1
17. Sohini bought 45 m of cloth for her kurta

and 21—70 m of cloth for her pyjamas. How

much cloth did she purchase in all?

o Watch Video Solution



https://dl.doubtnut.com/l/_x4krDNk2EwM8
https://dl.doubtnut.com/l/_0P0DVAOAcVES
https://dl.doubtnut.com/l/_3Tv9NtoRmJ5l

18. While coming back home from his school.
Kishan covered 4ka by rickshaw and 1§km
on foot. What is the distance of his house

from the school?

o Watch Video Solution

19. The weight of an empty gas cylinder is
4 2
16€kg and it contains 14§kg of gas. What is

the weight of the cylinder filled with gas?

o Watch Video Solution



https://dl.doubtnut.com/l/_3Tv9NtoRmJ5l
https://dl.doubtnut.com/l/_6yRRyMyBofEB

1. Find the difrence

1

5
8 8

o Watch Video Solution

2.Find the difrence
7 5

12 12

° Watch Video Solution



https://dl.doubtnut.com/l/_hMigyFqej6yk
https://dl.doubtnut.com/l/_QU6fov35uwRp
https://dl.doubtnut.com/l/_h5cPf1OrGH5o

3. Find the difrence

3
12 22
7 7

o Watch Video Solution

4.Find the difrence
5 4

6 9

° Watch Video Solution

5. Find the difference

1
2

3
8


https://dl.doubtnut.com/l/_h5cPf1OrGH5o
https://dl.doubtnut.com/l/_T806Bm1nM7MJ
https://dl.doubtnut.com/l/_dugSNuH1VFz9

° Watch Video Solution

6. Find the difrencence

5 7

8 12

o Watch Video Solution

7. Find the difrence

21 _ 1i
9 15

° Watch Video Solution



https://dl.doubtnut.com/l/_dugSNuH1VFz9
https://dl.doubtnut.com/l/_8Az7hRxdSKhL
https://dl.doubtnut.com/l/_PIOvcjiM2siz
https://dl.doubtnut.com/l/_JoocK6DvDdYA

8. Find the difrence

32 92
8 ‘12

o Watch Video Solution

9. Find the difrence
3 7

10 15

° Watch Video Solution



https://dl.doubtnut.com/l/_JoocK6DvDdYA
https://dl.doubtnut.com/l/_tjfxs1sGISqy

10. Find the difrence

62 33
3 4

o Watch Video Solution

11. Find the difrence

752
3

o Watch Video Solution



https://dl.doubtnut.com/l/_7r5RkCBNmcid
https://dl.doubtnut.com/l/_wqzXXz7ENLDO

12. Find the difrence

10 63
8

o Watch Video Solution

13. Simpilfy:
5 4 2
6 9 3

o Watch Video Solution



https://dl.doubtnut.com/l/_xrZPNcJttI45
https://dl.doubtnut.com/l/_xrSgKVY0nbRx

14. Simpilfy:
5 3 7

8 4 12

o Watch Video Solution

15. Simpilfy:

o 115
15 9

o Watch Video Solution



https://dl.doubtnut.com/l/_0WS7Hq7SSwmj
https://dl.doubtnut.com/l/_hkmxrwbRIe9g

16. Simpilfy:

53 45 —|—31
4 12 6

o Watch Video Solution

17. Simpilfy:
7 14
2+ 51—0 — 31—5

o Watch Video Solution



https://dl.doubtnut.com/l/_G1U3MUnxr5p8
https://dl.doubtnut.com/l/_nqVnZyglFEdO

18. Simpilfy:

8 31 21
2 4

o Watch Video Solution

19. Simpilfy:
8 > 3 5 + 2 !
6 "8 12

o Watch Video Solution



https://dl.doubtnut.com/l/_hmR6jBvr3lqA
https://dl.doubtnut.com/l/_HBeGQJt7zfR1

20. Simpilfy:

61 51 —|—31
6 5 3

o Watch Video Solution

21. Simpilfy:
3+1 ! + 2 !
5 3 15

o Watch Video Solution

2
22. What should be added to 9§ to get 19?7



https://dl.doubtnut.com/l/_37demDa0IA5x
https://dl.doubtnut.com/l/_r7O5i9dKpaAv
https://dl.doubtnut.com/l/_6GrxOI1LFM4e

o Watch Video Solution

1
23. What should be added to 61—75 to get SE ?

o Watch Video Solution

5 1
24. Subtract the sum of 35 and 3§ from the

5] 1
sumofb5— and 4—
6 9

o Watch Video Solution



https://dl.doubtnut.com/l/_6GrxOI1LFM4e
https://dl.doubtnut.com/l/_N2P0aKBXhgbq
https://dl.doubtnut.com/l/_UrK6dG2eR71E

3 5
25, Of 1 and 2 which is greater and by how

much?

° Watch Video Solution

1
26. Mrs Soni bought 75 litres of milk. Out of

this milk. 5Z litres was consumed. How much

milk is left with her?

° Watch Video Solution



https://dl.doubtnut.com/l/_PBe4m4z73Nvj
https://dl.doubtnut.com/l/_DprO6gBNVZOB

1
27. A film show lasted for 35 hours. Out of

this  time. 1Z hours was spent on

advertisments. what was the actual duration

of the film?

o Watch Video Solution

28. In one day. A rickshaw puller earned Rs

1 3
1375 Out of this money. He spent rs. 5GZ on

food How much money is left with him?

A R 805
. Rs. 5


https://dl.doubtnut.com/l/_p86Od12RUmEW
https://dl.doubtnut.com/l/_bQSlyYIJi6jt

B.Rs. 82—

Rs. 8 1

3

C. RS. 772

D. R 803

. Rs. 1
Answer: D

o Watch Video Solution

29. A piece of wire, 2Z metres long, broke into

5
two pieces. One piece is 3 metre long. How

long is the other piece?


https://dl.doubtnut.com/l/_bQSlyYIJi6jt
https://dl.doubtnut.com/l/_k8p3wp6eRtSD

C31
8

D. none of the above

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_k8p3wp6eRtSD

1. A fraction equlvalent to 5 is

3+ 2

542
3—2
5— 2
C 3 X 2
"5 x 2

B.

D. all of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pSFhsBbz7fEi

2. A fraction equlvalent to D) Is

o Watch Video Solution

3. A fraction equlvalent to 36 Is

>

w
— WIN =W
2 o0 @ |

N

D. none of these


https://dl.doubtnut.com/l/_4l5Z8fzZLSbK
https://dl.doubtnut.com/l/_7HW5HVeiclNr

Answer: B

o Watch Video Solution

4.1f — is equivalent to L then value of x is
g e 20

A.15
B.18
C.12

D. none of these

Answer: A


https://dl.doubtnut.com/l/_7HW5HVeiclNr
https://dl.doubtnut.com/l/_xl7meC4x2B4r

° Watch Video Solution

45
5.if — is equivalent to — then value of z is

60 T
A 4

B.5

C.6

D. 20

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xl7meC4x2B4r
https://dl.doubtnut.com/l/_gI1UYPnLIyVv

6. Which of the following are like fraction?

A. (2)/(5),2)/(7),(2)/(9),(2)/(1)

B. (2)/(3),(3)/(4),(4)/(5)5)/(6)

C. (1)/(8),(3)/(8),(5)/(8)7)/(8)

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gI1UYPnLIyVv
https://dl.doubtnut.com/l/_dR45zEY25Ozk

7. Which of the following is a proper fraction?
A 5
3

B.5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iKXoK7avHq21

8. Which of the following is a proper fraction?

A8
'8
B.1—

8
C8
7

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DYP4UQlqOuyK

9. Which of the following statements is

correct?

>
A

ol o ot w

N @
e w | w
V

3
and 5 cannot be compared

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HhJdSBfq49Pe
https://dl.doubtnut.com/l/_jSEE8oIqfhJY

i

3 2 5
. t t ti —_, =, —
10. The smallest of the fractions =136 10

IS

o
o w

N
S| O Oy W = Ll DN
| S P

o

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jSEE8oIqfhJY

1. The largest of the fractions (4)/(5), (4)/(7),

(4)/(9) (4)/(1) is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_krIKO5wFkUWt
https://dl.doubtnut.com/l/_iqMqWIn6TpvJ

12. The smallest of the fractions (6)/(11),

(7)/(11), (8)/(11), (9)/(11) is

A6
11

B.(7)/(11)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_iqMqWIn6TpvJ

7

2
12° 3

3 5
13. The smallest of the fractions 6

W2
'3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RLwCRytljFah

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jjESFdpj1HWB

15.— =7

A3S
7
.72
4

C.'4(6)/(7)

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FwH5C45NMAXi

16. simplify 5/8+1/8=?
A2
'8
B. (3)/(4)

C.6

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_POQNPP32BE5O

B. (1)/(2)
C. 75

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2z2QRtQOS2MY

1833 21—‘7
37 1=

A11
2

Bl1
4

C1
4

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YNGfjkz0LPAz

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dsCgagnsmKFl

20. Which i t 31 337
. :3—or —7
ich is greater: 37 or -5

A31
3

5 33
10

C. bothare equal

D. none of these

Answer: C

° Watch Video Solution

Test Paper 5


https://dl.doubtnut.com/l/_eHNW0RifSKZP

1. Defline a fraction. Give five examples of

fractions.

o Watch Video Solution

2. What fraction of an hour is 35 minutes?

D. None of these


https://dl.doubtnut.com/l/_2zOOwuiFmjz1
https://dl.doubtnut.com/l/_UuCVH5pZSnbZ

Answer: A

o Watch Video Solution

3. Find the equivalent fraction of 5/8 with

denominator 56.

° Watch Video Solution

4. Represent 23 on the number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_UuCVH5pZSnbZ
https://dl.doubtnut.com/l/_JNX00MRqf9Rd
https://dl.doubtnut.com/l/_hFLG9hNo2lv4

5.Find th 24—|—13—|—31
- Find the sum 2+ 10 15

o Watch Video Solution

2
6. The cost of a pen is Rs 16§ and that of a

1
pencil is Rs 46 Which costs more ?

A. Pen
B. Pencil
C. Can not be determined

D. None of these


https://dl.doubtnut.com/l/_hFLG9hNo2lv4
https://dl.doubtnut.com/l/_3AUcIB6ocJDj
https://dl.doubtnut.com/l/_talrX4Yk6lSj

Answer: A

o Watch Video Solution

3 5}
7. Of 1 and & which is greater and by how
much?

° Watch Video Solution

1

2 4 5!
8. Convert the fractions 3°3°79 and 5 into

like fractions.

| 8 l


https://dl.doubtnut.com/l/_talrX4Yk6lSj
https://dl.doubtnut.com/l/_9CzE8YRy1EbU
https://dl.doubtnut.com/l/_0e2r2ZBRAk5L

9. Find the equivalent fraction of 5 having

denominator 30.

° Watch Video Solution

4
10. Reduce 98 to the simplest form.


https://dl.doubtnut.com/l/_0e2r2ZBRAk5L
https://dl.doubtnut.com/l/_fKN9hVHCUpQg
https://dl.doubtnut.com/l/_azcXEUCnfsMw

Answer: D

o Watch Video Solution

1 24 is an example of
‘T p

A. a proper fraction
B. an improper fraction
C. a mixed fraction

D. none of these


https://dl.doubtnut.com/l/_azcXEUCnfsMw
https://dl.doubtnut.com/l/_EdjUK8JnxYoX

Answer: B

o Watch Video Solution

3
12. 3 is an example of

A. a proper fraction
B. an improper fraction
C. a mixed fraction

D. none of these

Answer: A


https://dl.doubtnut.com/l/_EdjUK8JnxYoX
https://dl.doubtnut.com/l/_oSFG2TZLV1in

° Watch Video Solution

133 d5 i i
* g an 12 on comparison give
A3<5

"8 12

B3>5

"8 12

C3_5

"8 12

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oSFG2TZLV1in
https://dl.doubtnut.com/l/_IORFx9i6Ydhl

14. The largest of

2 5 1 d 7.
g,g,ian EIS

© >
N M= = O Ot W DN
= g~ e |

N

o

Answer: C

the

fractions

° Watch Video Solution



https://dl.doubtnut.com/l/_IORFx9i6Ydhl
https://dl.doubtnut.com/l/_H3oTOYM8sXIT
https://dl.doubtnut.com/l/_nEbDZ5w40gYP

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nEbDZ5w40gYP

16. Which of the following are like fractions?

>

w
0|~ o w|N
ol w N | w
o|ot ol ok

N

~
~
~

ol = Oy | Ot
N e o

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hqE1N8Af46zo

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_LYEbYfmHcRzA

18. Fill in the blank:

(i) 92 + =19

)95 +..... =

(")61 o _ 29

)62 — 7 =<5

(i) 7 52 B

i g =

12 : :

(iv) 90 reduced to simplest fromis .....
42 7

V) o = —
54 []

o Watch Video Solution

19. Write 'T' for true for each of the statement

given below:


https://dl.doubtnut.com/l/_6uGHDnR2CTxM
https://dl.doubtnut.com/l/_RZZwfDBZpigs

i3t~ 32
793 7 10

g 12 — 71
! 6 '6

1 1 1

(iii) 33 and 1 are like fractuions.

(iv) — lies between 3 and 5.

5
(v) A L 154 the | t fraction i
v) Among o, o, o, 5 the largest fraction is

4

3
A. (i4), (441) and (v)
B. (i), (iv) and (v)
C. (i) and (v)

D. None of the above

Answer: C


https://dl.doubtnut.com/l/_RZZwfDBZpigs

° Watch Video Solution



https://dl.doubtnut.com/l/_RZZwfDBZpigs

